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Question Number : 1 Question Id : 6589882501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is mot an important characteristic of the Green
Revolution ?

Options:



. Mechanized agriculture

. Hybrid seeds
= Chemical Fertilizer

% Monoculture

Question Number : 2 Question Id : 6589882502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

The average gestation period in buffalo is of how many days ?
Options:

, 210

210

400

LB
H=
L7

Question Number : 3 Question Id : 6589882503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

What was the theme of World Food Day of the year 2018-19 ?

Options:

1 Fine grc‘::i:ns cereals prﬂnmtinn

> Our Actions Are Our Future, Ending World Hunger by 2030 is Possible
= Fruits and vegetable promotion

o Oilseeds promotion

Question Number : 4 Question Id : 6589882504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Crop logging is a method of :

Options:



Soil fertility evaluation

1.
. Plant analysis for assessing the requirement of nutrients for crop production
. ssessing crop damage

’ Testing suitability of fertilizers

Question Number : 5 Question Id : 6589882505 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Seed that is changed every year is known as :

Options:

. Breeder zeed

> Certified seed

5 Foundation seed

’ Hybrid seed

Question Number : 6 Question Id : 6589882506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The gas which emits from rice field is :

Options:

. Ethane

o Methane
= Nitrogen

" All of these

Question Number : 7 Question Id : 6589882507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The 2022 FIFA World Cup is scheduled to take place in :

Options:



) Qatar

> Abu Dhabi
5 Betjing

” Hong Kong

Question Number : 8 Question Id : 6589882508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which state will host the 36th National Games :

Options:

N Manipur

5 Goa

5 Haryana

” Uttrakhand

Question Number : 9 Question Id : 6589882509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The National Commission on Farmers (NCF) under the chairmanship of
Professor M. 5. Swaminathan was constituted to address which specific issue ?
Options:

i Doubling income of the farmers

- E-NAM
2 The nationwide calamity of farmers suicides

4 Attracting and Retaining Youth in Agriculture

Question Number : 10 Question Id : 6589882510 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Who is the Chairman of G5T Council in India ?

Options:



1 Prime Minister
5 Home Minister
5 Finance Minister

4 Finance Secretary

Question Number : 11 Question Id : 6589882511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Question Label : Multiple Choice Question

Winners of Nobel Prize in Economics in 2018 are /is -
Options:

1 Paul Romer, William Nordhaus

5 Richard Thaler

= Angus Deaton

4 Paul Krugman

Question Number : 12 Question Id : 6589882512 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

Read the statements given below :

(i) Seeds require moisture for germination.

(ii) Plants can absorb nutrients mostly in dissolved form.

(iii) Irrigation protects crops from both frost and hot air currents.

(iv) Irrigation improves soil texture.

Choose the combination of statements which indicate the need to irrigate crops.

Options:
) 1and i1

i

5 1, 11, 111, iV

" iand 1ii

Question Number : 13 Question Id : 6589882513 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1



Cuestion Label - Multiple Choice Guestion
What is the theme of the 2018 National Science Day (NSD) ?

Options:
1 Science for Nation Building

- Scientific Issues for Development of the Nation

3 Science and Technology for a Sustainable Future

4 Science and Technology for Espedally Abled Persons

Question Number : 14 Question Id : 6589882514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which football player was named UEFA Plaver of the Year 2013 ?

Options:
1 Kevlor Navas

5 cergio Ramos
5 Luka Modric

i Christiano Ronaldo

Question Number : 15 Question Id : 6589882515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The highest peak in South India is :

Options:
1 Everest

5 Daoddabetta
o Nilgiri hills

4 Anaimudi

Question Number : 16 Question Id : 6589882516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The largest part of the human brain is:



Options:
1 Cerebellum

o Midbrain
= Cerebrum

4 Me dulla Oblongata

Question Number : 17 Question Id : 6589882517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

ceieeooo.. forms the liquid part of the blood.

Options:

5 RBC
5 HB

4 Plasma

Question Number : 18 Question Id : 6589882518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

1HPisequalto............ watt:

Options:
; 526

Question Number : 19 Question Id : 6589882519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The last British Governor-General was -

Options:



L Rajaji

o Lord Canning

= Warren Hastings

4 Lord Mount Batten

Question Number : 20 Question Id : 6589882520 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

'Small Farmers' are those whose landholdings are :

Options:
1 above five hectare

5 below one hectare
= betiveen four to ten hectare

4 betiween one to two hectare

Question Number : 21 Question Id : 6589882521 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

India's rank in milk production is

Options:
! Second

5 First
= Third

4 Fifth

Question Number : 22 Question Id : 6589882522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Soil factors are otherwise known as -

Options:
1 C limatic factors



5 Edaphic factors
= Biotic factors

i Physiographic factors

Question Number : 23 Question Id : 6589882523 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Groundnut pegs are developed in the soil from :
Options:
1 Tubers

5 Fruits

2 Stems

4 Roots

Question Number : 24 Question Id : 6589882524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The Commisszion of Agricultural Costs and Prices tixes the :

Options:
i Minimum support price

o Wholesale price
= Retail price

4 Issue price

Question Number : 25 Question Id : 6589882525 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The basic unit of development under the Integrated Rural Development
Programmeisa:

Options:
1 District



o Family

5 Village

4 Community Development Block

Question Number : 26 Question Id : 6589882526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Water use efficiency is the highest' in case of -

Options:
1 Border irrigation

5 Drip irrigation
5 Sprinkler irrigation

4 Flood irrigation

Question Number : 27 Question Id : 6589882527 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

The animals produced by mating of bwo ditferent breeds of the same species is
known as :

Options:
1 Mixed breed

5 Cross breed

= Exotic breed

o Pure breed

Question Number : 28 Question Id : 6589882528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The market for wheat is clozer to which market structure ?

Options:
1 Monopolv



>, Oligopoly
= Monopolistic competition

& Pertect ccnnpetiticm

Question Number : 29 Question Id : 6589882529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Generally, cereals are deficient in :

Options:
1 Protein

5 Iryptophan

2 Methionine

o Lysine

Question Number : 30 Question Id : 6589882530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

The chemical, which attracts opposite sex insects of a species, iz known as :

Options:
1 Hormones

5 Allomones

= Kairomones

4 Pheromones

Question Number : 31 Question Id : 6589882531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Classification of insects and rules of their nomenclature comes under the
branch :

Options:
L Morphology



o Taxonomy

= Ecology

" Physiology

Question Number : 32 Question Id : 6589882532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Biofertilizers are :

Options:
1 Drganic manures

o> Green manure

= Culture of Micro-Organism

4 None of theze

Question Number : 33 Question Id : 6589882533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

National Sugar Institute (N.5.1) is located at :

Options:
) Kanpur

2 NE“; AT DE ]_-h_:l

2 Varanasi

4 Lucknow

Question Number : 34 Question Id : 6589882534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Red Delicious is a variety of :
Options:

L Mango



o Papaya
= Apple

o (Guava

Question Number : 35 Question Id : 6589882535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Olericulture refers to cultivation of :

Options:

L Fruits

5 Oilzeeds

2 Vegetables

4 Mushroom

Question Number : 36 Question Id : 6589882536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

SRI iz a technique used in :

Options:
1 Maize

> Groundnut

= Wheat

" Rice

Question Number : 37 Question Id : 6589882537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which one of the following fertilizers is known as 'Kisan Khad'?
Options:

1 Urea



5 Calcium Amumonium Nitrate

3 Murate of Potash

4, Ammonium Sulphate

Question Number : 38 Question Id : 6589882538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Statements : Only good singers are invited to the conference. No one without
sweet voice is a good singer.
Conclusions :
I. Allinvited singers in the conference have sweet voice.
II. Those singers who do not have sweet voice are not invited in the
conference.
Options:
Only conclusion I follows

Only conclusion IT follows

5 Neither I nor II follows

p Both I and II follow

Question Number : 39 Question Id : 6589882539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Statements : The Government run company had asked its emplovees to declare

their income and assets but it has been stronglv resisted by employees union

and no emplovee is going to declare his income.

Conclusions :

I. The employees of this company do not seem to have any additional
undisclosed income besides their salary.

II. The employees union wants all senior officers to declare their income first.

Options:

1 Only conclusion I follows

5 Only conclusion II follows



5 Either I or II follows

4 Neither I nor II follows

Question Number : 40 Question Id : 6589882540 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Find out which of the tigures (1), (2), (3) and (4) can be formed from the pieces
given in figure (x).

)

(x)

®
> S
3 ©
4 &

Question Number : 41 Question Id : 6589882541 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Select the alternative in which the specified components of the key figure
(x) are found.

Q0 Y

B &

(x)
Options:




q'
GEE
F-

(o]
B

d

-]
hod

g,

F
4

Question Number : 42 Question Id : 6589882542 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

The change in seasons on the earth occurs because :

(i) the distance betwween the earth and the sun iz not constant.

(ii) the axis of rotation of the earth is parallel to the plane of itsorbit.

(iii) the axis of rotation of the earth is perpendicular to the plane of its orbit.

(iv) the axis of rotation of the earth iz tilted with respect to the plane of
its orbit.

Choosze the correct statermnent.

Options:

1.1

11l

v

Question Number : 43 Question Id : 6589882543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Battle of Plassey was fought in :

Options:



1 1756 AD

o 1757 AD

Question Number : 44 Question Id : 6589882544 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Guestion
The total geographical area of India is
Options:

! 15355 crore hectares

20.538 crore hectares
22 83 crore hectares

32 88 crore hectares

Question Number : 45 Question Id : 6589882545 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The Parliament is comprised of :

Options:
y Rajva Sabha and Lokshaba

. Rajva Sabha, Lok Shaba and State Legislative Assembly

. Rajya Sabha, Lok Shaba and President

4, Rajya Sabha, Lok Shaba and Prime Minister

Question Number : 46 Question Id : 6589882546 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Zero Hour in Parliament prﬂceedings starts at -

Options:



) 12.00 O'clock during day (Noon)

. Before Noon

. After Noon

4 Cut motion

Question Number : 47 Question Id : 6589882547 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Goods and Service Tax (G5T) iz a:

Options:
! Direct tax

. Indirect Tax

= Dividend

5 Includes both Direct and Indirect taxes

Question Number : 48 Question Id : 6589882548 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cmestion Lakel - Multiple Choice Guestion
First woman to get Bharat Ratna is :
Options:

) Sarojind Naidu

. Indira Gandhi

5 Vijay Laxmi Pandit

’ Mother Teresa

Question Number : 49 Question Id : 6589882549 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Incomplete combustion of fuel such as petrol and diesel gives :

Options:



Nitrogen oxide
Sulphur dioxide
Carbon monoxide

Carbon dioxide

Question Number : 50 Question Id : 6589882550 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which term of the AP : 21,42 63,84, 152107
Options:

th
1 ?

5 J_Dt!‘-.

th
= 11

Question Number : 51 Question Id : 6589882551 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The sum of the digits of a two-digit number is 9. If 27 is addedto it, the
digits of the number get reversed. The number is -

Options:
5

L 45]

72

63

36

Sub-Section Number: 2
Sub-Section 1d: 65898824
Question Shuffling Allowed : Yes



Question Id : 6589882552 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (52 to 56)
Juestion Label - Comprehension

Each passage in this section is followed by gquestions based on its content. After
reading the passage, choose the best answer to each guestion. Answer all questions
following the passage on the basis of what iz stated or implied in that passage.

Today I Rabindranath Tagore complete eighty yvears of my life. As I look back on the
vast stretch of years that lie behind me and see in clear perspective the history of my
early development, I am struck by the change that has taken place both in my own
attitude and in the psychology of my countrymen -- a change that carries within it a
cause of profound Our direct contact with the larger world of men was linked up with
the contemporary history of the Englizh people whom we came to know in thosze
earlier days. It was mainly through their mighty literature that we formed our ideas
with regard to these newcomers to our Indian shores. In those days the type of
learning that was served out to us was neither plentitul nor diverse, nor was the spirit
of scientific enquiry very much in evidence. Thus their scope being strictly limited, the
educated of those dayvs had recourse to English language and literature. Their days
and nights were eloquent with the stately declamation= of Burke, with Macaulay's
long-rolling sentences; discussions centered upon Shakespeare's drama and Byron's
poetry and above all upon the large-hearted liberalism of the nineteenth-century
English politics.
At the time though tentative attempts were being made to gain our national
independence, at heart we had not lost faith in the generosity of the English race. This
belief was so firmly rooted in the sentiments of our leaders as to lead them to hope
that the victor would of his own grace pave the path of freedom for the vanquished.
This belief was based upon the fact that England at the time provided a shelter to all
those who had to flee from persecution in their own country. Political martyrs who
had suffered for the honour of their people were accorded unreserved welcome at the
hands of the English.
I was impressed by this evidence of liberal humanity in the character of the Englizh
and thus I was led to set them on the pedestal of my lughESt respect. This generosity in
their national character had not vet been vitiated b‘r imperialist pride. Abmtt this time,
as a boy in England, I had the opportunity of listening to the speeches of John Bright,
both in and outside Parliament. The large-—hearted radical liberalismm of those
speeches, overflowing all narrow national bounds, had made so deep an impression
on my mind that something of it lingers even today, even in these davs of graceless
dizillusionment.

Sub questions

Question Number : 52 Question Id : 6589882553 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

From the first paragraph, give a synonym for 'deep’ :

Options:



. Perspective

. Profound

- tragedy

" Psychology

Question Number : 53 Question Id : 6589882554 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

What helped the Indians to conceive of a notion of the Englishmen ?

Options:
! Their advanced weaponry

. Their literature

. Their orders

’ Their admunistration

Question Number : 54 Question Id : 6589882555 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Who could read and gain from English literature ?

Options:
1 The educated Indians

5 All the Indians

Only wiriters such as Rabindranath Tacore
= B |

4 None of theze

Question Number : 55 Question Id : 6589882556 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

From the third paragraph, give an antonym for 'victorious' :

Options:



1 Victor
5 Vangquished

= Belief

4 Perzecuition

Question Number : 56 Question Id : 6589882557 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Whose speeches did Tagore listen to, as a boy ?
Options:

1 Shakespeare

5 Byron

- John Bright

4 Macaulay

Sub-Section Number: 3
Sub-Section 1d: 65898825
Question Shuffling Allowed : Yes

Question Id : 6589882558 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (57 to 61)
Cestion Label | Comprehiension



Man's erowth from barbarism into civilization is supposed to be the theme of
history. But sometimes, locking at great stretches of hustory, it is ditlicult to believe
that this ideal has made such progress or that we are very much civilized or
advanced. There is enough of want of co-operation today, of one country or pegple
._AE]jZL.:.}.'Ll} attac];:mg Or oppressing another, of one man Explmtmg another.

It iz well to remember that man in many ways has not made v ery g—reat progress from
other animals. It may be that in certain ways some animals are superior to him. Still
we look down upon insects as almost the lowest of living things and vet the tiny bees
and ants have learnt the art of cooperation and of h.acrliu:e for the common g::lnd far
better than man. If mutual cooperation and sacrifice for the good of society are the test
of civilization we may say that the bees and ants are in this respect superior to man. In
one of our old Sanskrit books there iz a verse which can be translated as follows: "for
the family, sacrifice the individual for the community, the family, for the country, the
commumnity, and for the soul, the whole world” What the soul is few of us can ls:nnw
or tell and each one of us can interpretitis a different way. But the lesson this Sanzkrit
verse teaches us is the same leszon of cooperation and sacrifice for the larger good. We
in India, had inrgc:-tten this sov ereign path to real greatness tor many a da‘i,' we had =o
tallen. But again we seem to have glimpses of it and all the country is astir. How
wonderfiil 1t iz to see men and women, and boy and girls, similarly going ahead in
India's cause and caru‘:g about any pain or _u_ttermg ? T"Je]l may they smile and he
olade for the ] joy of serving a great cause which is their and those who are fortunate,
comes the jov of sacrifice alfn_

Sub questions

Question Number : 57 Question Id : 6589882559 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

What is the real theme of history ?

Options:
1 the rize and tall of empires

5 mMan's moral and fall of empires

z man's search for truth

i the process of man's becoming civilized.

Question Number : 58 Question Id : 6589882560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

What is the basic reason of exploitation of one man by another ?

Options:
. the weakness of some people an strength of the others

5 lack of civilization



2 man s bEL’iEtlf_." nature

i lack of education

Question Number : 59 Question Id : 6589882561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

In what rE'-:-pE-ct are some amimals Superinr to man ?

Options:
1 physical strength

» having no cares in their lives
- having greatest instinct for co-operation and sacrifice

& not Dppreszing or Emplnit:i:ng one another

Question Number : 60 Question Id : 6589882562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

What lesson does the Sanskrit verse in question teach us ?

Options:
, to believe well with one another

5 to help each other in ditficulties

to inculcate the spirit of co-operation and sacrifice for the large good of the
saciety

to work constantly

Question Number : 61 Question Id : 6589882563 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

What does the sentence 'all the country is astir' mean in the passage ?
Options:

) the whole country is up in revolt

. there iz an upsurge of moral and spiritual fervor in the whole country



a wave of zeal and vivacity, vigour and dynamism is perceptible in the

5 Whaole country

” the whole country is flooded with lofty ideas and thoughts.

Sub-Section Number: 4
Sub-Section 1d: 65898826
Question Shuffling Allowed : Yes

Question Id : 6589882564 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable: Yes

Question Numbers: (62 to 66)
Cuesticon Label | Comprehension

The following table give the population of certain states in India

Population
States Area (sq. miles) Population in Millions

Andhra Pradesh 1,66,052 43 4
Assam 41,899 15
Bihar 67,123 56.35
Gujarat 72.226 26.66
Harvyana 16,245 997
J& K 87,024 161
Kerala 15,005 21.28
Madhya Pradesh 72,010 41 44
Maharashtra 1,183,714 50.3
Karnataka 74,191 2922
Odizha 60,126 2193
Punjab 19,500 13.47
Rajasthan 1.32.150 25.72
Tamil Nadu 50,132 411
Uttar Pradesh 1,13,454 88.29
West Bengal 33,928 44 44

Sub questions

Question Number : 62 Question Id : 6589882565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label ; Multiple Choice Question

If the south zone comprizes Kerala, Tamil Nadu, Karnataka and Andhra
Pradesh, and 30% of population in south zone consists of Keralities, the number
of Keralities in south zone iz :

Options:

1 21 28 million

5 6.3 million



= 40 5 muillion

4 135 million

Question Number : 63 Question Id : 6589882566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The most densely populated and sparsely populated states are :

Options:
i Maharashtra and Haryana

5 West Bengal and J & K

5 Uttar Pradeshand J & K

4 Biharand J & K

Question Number : 64 Question Id : 6589882567 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Question

According to the data presented of 60% of people in Gujarat are literate, the
number of people in Gujarat who can not read or write are :

Options:

1 10.66 million

> 16 million

z 13.33 million

4 499 million

Question Number : 65 Question Id : 6589882568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

In terms of population, Maharashtra ranks :
Options:
1 second

5 third

3 fourth



o zixth

Question Number : 66 Question Id : 6589882569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The maximum number of states having combined area nearly equal to that of
Madhya Pradesh is :

Options:
1 Three

5 Four
= Five

i

4 1

Sub-Section Number: 5
Sub-Section 1d: 65898827
Question Shuffling Allowed : Yes

Question Number : 67 Question Id : 6589882570 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Which of the following is nof a green house gas ?
Options:

L Nitrogen gas

> Water vapour

2 Methane gas

" Carbon dioxide

Question Number : 68 Question Id : 6589882571 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

uestion Label - Multiple Choice Cuestion

In 1970, Japan produced 20% of the total world production of mineral k. If
Japan produced 40 tonnes of mineral k, how many tonnes were produced by
the world ?

Options:



160

200

Question Number : 69 Question Id : 6589882572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Guestion

The original price of an article was reduced by 25 percent. During a special zale
the new price was decreased by 10 percent. By approximately what percent
would the price now have to be increased in order to restore the price of the
article to its original amount ?

Options:

1 32.5%

Question Number : 70 Question Id : 6589882573 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Guestion

If the cost price of 10 shirts is equal to the selling price of 3 shirts, then
which of the following is true for the transaction ?

Options:

, Profit of 25%

> Laoss of 25%
= Profit of 20%

4 Los=s of 20%

Question Number : 71 Question Id : 6589882574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



Question Label - Multiple Choice Guestion

160 m® of water is to be used to irrigate a rectangular field whose area is
300 m”. What will be the height of the water level in the field ?

Options:

)
N 02m

5 0.8m

g
= 1.2m

" 15m

Question Number : 72 Question Id : 6589882575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Antnnym relati::mzlﬁp
Extrovert : Selfish - -

Options:
! Introvert : Altruistic

5 Fill : Brim
= Pious : God fearing
’ Ambivalent : contradictory

Question Number : 73 Question Id : 6589882576 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Antonym relationship
E«la:very : Freedom : :

Options:
1 cervant : master

5 Prison : crime

5 Patriot : honourable

4 Adversary : prosperity



Question Number : 74 Question Id : 6589882577 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Antonym relaticmzlﬁp

Antonym: Synonym - :

Options:
1 pﬂlitician celection

> CD]]’Ipc'll"liDI"L : comrade

. tamiliarity : recognition

” friend : foe

Question Number : 75 Question Id : 6589882578 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Antonym relationship
Suggest : Command : :

Options:
1 dE‘l‘L}' % I'E'q_‘LIEE-t

5 hint : blunder

5 take : grab

4 hint : hurt

Question Number : 76 Question Id : 6589882579 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Synonym Relatimlzhip
Extol : Praise : :

Options:
1 atfluent : fluid

o affluent : rich



river : seq
=,

4 hillock : mountain

Question Number : 77 Question Id : 6589882580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Synonym Relatimtehip
lure : Attraction : -

Options:
; preclude : include

small : long

z2.
3 sterile - barren
4 protracted : protected

Question Number : 78 Question Id : 6589882581 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Synonym Relatimlzhip

Alias : Name - :

Options:

L sipnature : clerk

> mask : face

3 title - rank

4 novel : author

Question Number : 79 Question Id : 6589882582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Synonym Relationship

Clapper : Bell : :

Options:



1 hammer : piann

» speaker : radio

= horn : automobile

4 tDl‘EE’.‘LlE‘ - mouth

Question Number : 80 Question Id : 6589882583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Profezsional and other relationship

Pharmacist : Doctor - -

Options:
1 ‘i\FDI']C.E‘l‘ i Engi.neer

5 mechanic : machine

= 1}]{[‘}'91‘ - coach

mason - architect

Question Number : 81 Question Id : 6589882584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Professional and other relationship
Agquarium : Fish ::

Options:
. class : students

5 parliament : politician

5 aviary : birds

4 Ioney - 'tI'E"ElS'LLI.'f"

Question Number : 82 Question Id : 6589882585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion



Choose the word which very closely replace the given phrase or clause.
To root out an evil -

Options:

i Eliminate

" Abdicate
= Eradicate

i Abolish

Question Number : 83 Question Id : 6589882586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Choose the word which very ClDSE‘l‘_L' replace the given phrase or clause.
Animals that feed on grass:

Options:
1 Graminivorous

5 Carnivorous

3 Insectivorous

4 Herbivorous

Question Number : 84 Question Id : 6589882587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Neither Aziz nor Suresh has done ... work.

Options:

1 his

o their

o theirs

” their's



Question Number : 85 Question Id : 6589882588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Ihavenotheard the ...... ... .. news.

Options:

L Last

5 later
- latest

latter
4

Question Number : 86 Question Id : 6589882589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

This is the only of his poems that ......_..._ ... worth reading.

Options:

1 15

are

Were
oF

be

Question Number : 87 Question Id : 6589882590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Iwill gladlyavail. ................ vour kind offer.
Options:

l.DI

fo
2.

nyvself of
3 70

4 TS elf to



Question Number : 88 Question Id : 6589882591 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

Marginal tarmer in India is one who has landholding of :
Options:

) less than 1 hac

, more than 1 ha butless than 2 ha

5 more than 2 ha but less than 4 ha

, more than 4 ha

Question Number : 89 Question Id : 6589882592 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Approximate contribution of agriculture in total GDP in 2018 1s :

Options:
25.50%

22 .50%
20.50%

about 16 %

Question Number : 90 Question Id : 6589882593 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

India is the largest producer, consumers and importer of :
Options:

N Sugar

. Apple
= Pulses

o Rice



Question Number : 91 Question Id : 6589882594 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Khaira disease of rice can be controlled by spraying :

Options:
N Copper sulphate

. Calcium sulphate
. Zinc sulphate

” Borax

Question Number : 92 Question Id : 6589882595 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Chemical formula of pyrite is :

Options:
I:?I
L Fe:

5 Cub
5 MnS

” Fes,

Question Number : 93 Question Id : 6589882596 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Murrah is breed of :

Options:

1 Cattle

> Goat

Buffalo

Sheep



Question Number : 94 Question Id : 6589882597 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The Origin of ango 1= :

Options:
. Tropical America

o Russia

" Aftrica

" As=ia

Question Number : 95 Question Id : 6589882598 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Blue Revolution refers to -

Options:

. Cereals

o Livestock

5 Fish

2 Qilzeed=

Question Number : 96 Question Id : 6589882599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

A cropping system of growing t_w;:l Or MOre Crops in the same piece of land in
same grs:uwintr zeasons instead of one crop 15 :

Options:
Multiple cropping

1.
Ratoon crnppiﬂg

Sole Cropping

Monoculture



Question Number : 97 Question Id : 6589882600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

In budget 2019, the Kisan Samman Nidhi (P.M. Kissan) refers to annual income
support to small farmers (less than or equal to 2ha) is

Options:
1 Rs 3000 /farmers

5 Rs 7000 /farmer
5 Rs 6000/ tarmer

4 Rs 5000 /farmer

Question Number : 98 Question Id : 6589882601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

How many markets are covered under eNAM in agriculture ?

Options:

| 385

Question Number : 99 Question Id : 6589882602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Government of India announced the year 2013-19 on theme in agriculture :
Options:

1 Promotion of coarse cereals

5 Promotion of fine grains cereals

5 Promotion of oilseeds cereals

4, Promotion of palm oils



Question Number : 100 Question Id : 6589882603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

mKizan refers to :

Options:
, @ platform to get seeds

» a platform to get pesticides
5 @ portal to get information/services /advisories to farmers by SMS

4 2 plattorm to get registered for getting benetits of Bhavantar Bhugtan

Question Number : 101 Question Id : 6589882604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Biogas is a biofuel produced from the anaerobic termentation of carbohvdrates
in plant material or waste (eg food peelings or manure) by :

Options:
1 Bacteria

5 Fungi

z Nematodes

& Virus

Question Number : 102 Question Id : 6589882605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Heterosis is defined as -

Options:

1 inferiority of hybrid over both the parents
5 equality of hvbrid over both the parents

2 superiority of hvbrid over both the parents

o hybrid suffers from lethal genes



Question Number : 103 Question Id : 6589882606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cmestion Lakel - Multiple Choice Guestion
Norman Ernest Borlaug was rwarded Nobel Prize in 1970 in -

Options:
1 Agriculture

5 Economics

2 Peace

o Physics

Question Number : 104 Question Id : 6589882607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
The wonder variety of sugarcane in Uttar Pradesh as per ICAR 15 :

Options:
, CoJed

5 Col177
2 Co0233

s Co7/b

Question Number : 105 Question Id : 6589882608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

How many Indian Agricultural Research Institutes (LARIz) are in the country ?
Options:

2

Tl

[

Question Number : 106 Question Id : 6589882609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes



Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

King of mangoes is :

Options:
1 Alphonso

5 Chausa

= Langra

4 Dussehri /Dasheri

Question Number : 107 Question Id : 6589882610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Under Pradhan Mantri Fasal Bima Yojana (PMFBY), the farmer has to pay

maximum premium of ... for Bharnif, oo for Rabi food & oilseed
erapsamnd. ;s for anmual commercial /horticultural crops.
Options:

1 2%, 1.5% and 5%

5 1.5%, 2% and 5%

3 1.5%, 5% and 2%

4 2%, 1.5% and 2%

Question Number : 108 Question Id : 6589882611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

TIPS technique is related to :
Options:
, Tomato

Sugarcane
Potato

All of these



Question Number : 109 Question Id : 6589882612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Stomata open at night in :

Options:

; C4plants

o C3 plants

5 CAM plants

4 None of theze

Question Number : 110 Question Id : 6589882613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Pegging occurs in which crop ?

Options:

1 Tobacco

o Potato

= Cassava

4 Groundnut

Question Number : 111 Question Id : 6589882614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

CRISPR stands for -
Options:
1 Clustered Regularly Interspaced Short Palindromic Repeats

5 Clustered Regularly Interspaced Short Polymer Repeats

5 Clustered Regularly Interspaced Short Polvgenic Repeats

i Clustered Regularly Interspaced Short Parallel Repeats



Question Number : 112 Question Id : 6589882615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Lakel : Multiple Choice Guestion

The term that is used for the mode of nutrition in yeast, mushroom and bread-
mould is :

Options:

; Autotrophic

Insectivorous
Saprophytic

Parasitic

Question Number : 113 Question Id : 6589882616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label - Multiple Choice Guestion

The place meant for conservation of biodiversity in their natural habitat are :
(i) Zoological garden

(ii) Botanical garden

(iii) Wildlife sanctuary

(iv) National park

Options:

g 1 &1

ii & 1ii
2.

5 1l & 1v

4 141N

Question Number : 114 Question Id ;: 6589882617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which part of plant gives saffron ?
Options:
1 Leaves

> otems



- Female reproductive part

4 Male reproductive part

Question Number : 115 Question 1d : 6589882618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Santosh Trophy belongs to which sport :

Options:
] Cricket

5 Football
= Lawm Tennis

4 Polo

Question Number : 116 Question Id : 6589882619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Morning star is the name given to:

Options:

. Pole Star

Otar Sirtus
-z Planet Jupiter

4 Planet Venus

Question Number : 117 Question Id : 6589882620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Polvglot refers to

Options:
A person speaking many languages

> f perzon ].E‘Ell'l"u_'l.'lg many languagez



5 a person ]_is.tenjﬂg many la_nguagez

4 @ Pperson mixing words of many languages in a sentence

Question Number : 118 Question 1d : 6589882621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

Predicament refers to -

Options:
, enjoying lofty moments of life

5 in very sad condition

5 inan indifferent condition

4 doing good to others

Question Number : 119 Question Id : 6589882622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

I attach the highest value to the duty of subjects to their sovereign and
Government.

Options:

, Allegiance

5 Obedience

—_
oimgcere
=3

4 Thanks giving

Question Number : 120 Question Id : 6589882623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

KATLIA scheme initiated by Government of Orissa. KALIA stands for :

Options:
i Kalyvan of Agriculturist for Livelihood and Income Augmentation

o Krushak Assistance for Livelihood and Income Augmentation



5 Krushal Aszociate for Livelihood and Income Augmentation

4 Kalyankari Agriculturalist Livelihood and Income Augmentation.



